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Simplify the graph as your requiremem using the K ruskil algorithm dhowing all sieps
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3. @ | Let A be the adjacency matrix of a weighted g .j|'||l G, with the columns and rows 3+
| labeled, in order, by the vertices of the set V' = (v, vi, %2, ¥3, v4, v8] 5o the first row of

{ the matrix represents the adjscencies of vertey i, [h.. second row those of vertea v1,
ete. Mote that there are some non-rero diagonals which means that there are some eddjs
of the form v, v). Also, an entry with weight 0 means there 15 no edge.
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(i} Find the adjacency lsts for the gr-.lph swch that the edges i each list are ordercd by
| increasing weight.

_}_u- Determine uhnhn Jullm-.-mﬂ graphs ane hmurht: or mot .|

4. @) | Let R be the relation on a set [, b, ¢, &, ¢} containing the ordercd puirs (h.c), (he) |
(e, )(d.a)(e,b) and (e.c). Find the transitive closure of R

lh,hﬂlﬂpnﬂam (4. 5, 6, 7} contaiming the ordered pairs (4, 51, (5, 5),
. (6, 6) and (7. 4). Discover the symmetric and reflexive closures of R,
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